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Department of Mathematics

Math 261 A
Test 1

Let s(t) represent the position (meters) of an object moving along a straight line where

time t is measured in seconds. Use your calculator.

s(t) =2t*-3
Determine the average velocity over each time period.
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Determine the following limits by using algebra. Show your work for credit.
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1.1 2x < f(x) < x* — x2 + 2 for all x, then determine lim f(x)
x—1
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Letf(x)={3x1+4 <y <2

Answer the following questions.
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Is the function continuous at x = 2 ?
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Is the function continuous at x = () ?
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Is the function continuous at x = 5 ?
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tl t2 s(t1) s(t2) Delta t Delta s ds/dt
4 5 29 47 1 18.00 18.00
4.5 5 37.5 47 0.5 9.50 19.00
4.9 5 45.02 47 0.1 1.98 19.80
4.99 5 46.8002 47 0.01 0.20 19.98




/ ~ 4
)J _i ' o Wﬁe‘"k
Se=k -
et D=2
(%—‘)
b £ -2 N - . = 2. - la
—u 3 \ =} ) 2~ % S,
—®__L;~ “'—Lu',‘L -3 o, b cteyan 3
l‘.:ﬁ_ﬂ e ’ (@)
Y 4 S S & =l
o, -2 N faqn 13 )
= (a3
¥ 4
Atk —9 = K
—lEic 2] S Efam ~2 )
/ ! b g i
perE S
Va3 M=o t—12
|
o— 3
' <k
& g e




e) ‘ga‘gk x 4

%) :
ekt 8 >0 O =

{5
$
(l
X
+
£
N
¥
e\

> =. L
R T S
RG] | < + 2 - 2+ 2
x—o 2 k‘:‘ltlﬁ—& 2 N A
-L"‘['}-f\-— +4:
= O e s
A=—O<A— re
i e
T
@ - o Sty e
e avovima \
e s MR, . ) O etevannact
. i‘SPk)z — S T ( k\S)?_ ‘_):S
= - s
- W= oh+t 2 —2¢
= hi-wk o K (k-‘g‘\
(. #

= h—(9




=10

—




= x<
bw e = 3} =
— K|
X~ |
= (2
N
e — "ﬁ—i&
'T'\Newoh
&) S (
& ) = ) - S S
: -2 - &:g

~~
— %y > — =
(> < ) r
- +&) = (CDJ
<wot




Ly =
D & Ofx.& .
i 1 XL o
K 7
T P P
Nl Bt B v
[iwn $6) = 3.5 L Taa = ¢l
aS - d i
>~ b e N o
= @4 < W
= (o)) o
= iy
) (ivr le) =\ \
7 R —
(%) ' e
MW LN - Ol . T Z R e
] o . g 'i(f.
@ kw247 = [im f«) = - ¢ <)
N <o oo T
i 4 1 /ﬁ i)
- e —
s [ D N
= o T S




si+6 Ci:+ b
2SS+ Stk
B s =
Sl ()
— e g
lwA .C(k)} 2 )
x-S
@5) fH - S b &V SRR e e
= WS4+ b ZQS




